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QUESTION 1

Which Cisco SD WAN component provides a secure data plane with remote vEdge routers? 

A. vManage 

B. vSmart 

C. vBond 

D. vEdge 

Correct Answer: D 

https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/BRKCRS-2112.pdf page 9 

 

QUESTION 2

Where does the Cisco V-Edge Router perform QOS traffic classification? 

A. Per VPN 

B. Per vEdge 

C. Egress interface 

D. Ingress interface 

Correct Answer: D 

 

QUESTION 3

Which are three functions used by ISE automation BYOD flow? (Choose three.) 

A. Supplicant Provisioning 

B. Device Registration 

C. Certificate Enrollment 

D. BioMetrics 

E. LDAP Multi Tenant Provisioning 

F. Active Directory Group Membership 

Correct Answer: ABC 

 

QUESTION 4
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Which three technologies are used in an SD-Access Fabric? (Choose three.) 

A. MPLS 

B. TrustSec 

C. VXLAN 

D. OTV 

E. LISP 

F. RSVP 

Correct Answer: BCE 

MPLS is an transport protocol such as VXLAN but is NOT used in SDA. The answer should be VXLAN, TrustSec and
LISP 

 

QUESTION 5

Which are three Cisco ISE use cases? (Choose three.) 

A. BYOD 

B. Assurance 

C. Monitoring 

D. Security Incident and Event Management 

E. Access Control 

F. Segmentation 

Correct Answer: AEF 

https://salesconnect.cisco.com/open.html?c=39718a3a-ddf3-440d-a36d-b646099d72b8 
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